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EDUNITI

Q 1 A man standing on a road has to hold his umbrella at 30° with the vertical to keep the rain
away. He throws the umbrella and starts running at 10 km/h. He finds that raindrops are hitting
his head vertically. Find the speed of raindrops with respect to (a) the road, (b) the moving man.
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EDUNITI

Q 1 A man standing on a road has to hold his umbrella at 30° with the vertical to keep the rain
away. He throws the umbrella and starts running at 10 km/h. He finds that raindrops are hitting
his head vertically. Find the speed of raindrops with respect to (a) the road, (b) the moving man.
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EDUNITI

Q72 - Rainis falling vertically with a speed of 20 ms-!

relative to air. A person is running in the rain with a
velocity of 5 mst and a wind is also blowing with a
speed of 15 ms-t (both towards east). Find the angle
with the vertical at which the person should hold his S
umbrella so that he may not get drenched.
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EDUNITI

(> A man is coming down an incline of angle 30°. When he

walks with speed 243 m/s, he has to keep his umbrella

vertical to protect himself from rain. The actual speed of
rain is 5 m/s. At what angle with vertical should he keep his
umbrella when he is at rest so that he does not get drenched?
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River-Swimmer y & River Crossing
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Q- A river 400 m wide is flowing at a rate of 2'0 m/s. A
boat is sailing at a velocity of 10 m/s with respect to the
water, in a direction perpendicular to the river. (a) Find
the time taken by the boat to reach the opposite bank.
(b) How far from the point directly opposite to the
starting point does the boat reach the opposite bank ?
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Q2. A man wishes to cross a river in a boat. If he crosses the river
in minimum time, he takes 10 min with a drift of 120 m. Ifhe
crosses the river taking shortest route, he takes 12.5 min
Find the velocity of boat with respect to water. (in /7 )
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B3 A swimmer wishes to cross a 500 m wide river flowing

at 5 km/h. His speed with respect to water is 3 km/h.
(a) If he heads in a direction making an angle 6 with
the flow, find the time he takes to cross the river.
(b) Find the shortest possible time to cross the river.

Consider the situation of the previous problem. The man
has to reach the other shore at the point directly
opposite to his starting point. If he reaches the other
shore somewhere else, he has to walk down to this point.

Find the minimum distance that he has to walk.
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83 A swimmer wishes to cross a 500 m wide river flowing
at 5 km/h. His speed with respect to water is 3 km/h.
(a) If he heads in a direction making an angle 6 with
the flow, find the time he takes to cross the river.
(b) Find the shortest possible time to cross the river.
Consider the situation of the previous problem. The man
has to reach the other shore at the point directly
opposite to his starting point. If he reaches the other
shore somewhere else, he has to walk down to this point.
Find the minimum distance that he has to walk.

" =S5 D08 = 5KmM/h = Km/[ hn
50"t W =500 Vop=5 /h NNl

W

=00 /o .
@) ¢ =_W LS BRI
. X099 ¢ ing SinNbG
ERTL LA s

be Z2¢e7)-
@) *s Vo 7 Vsj7 > o can Nevery

dpmin DCCUTS At (o56=="/5

e e
P DAL (5 5 6
C/m"7 'O/YJFVS/?(OSe) sindx60 2 i

= | Z /2 Km
W Eduniti for Physics w




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18

